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QUESTION 1

Click the Exhibit button.

| [asear  fwed JiocalPreferonce Jorign |
ISP-A 150

100 200 1 50 ?
ISP-B 3000 1500 50 100 E
I1SP-C 5000 4000 50 100 |
ISP-D 1000 7000 50 100 |

You receive the same 100.200.0/16 route from all four ISPs to which you are connected. Referring to the exhibit, which
ISP\\'s route will be selected as active?

A.ISP-C
B. ISP-D
C.ISP-A
D. ISP-B

Correct Answer: C

QUESTION 2

Click the Exhibit button.
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[edit]
userfRouter-14# show

interfaces {
ga-0/0/1 |
unit 0 {
family inst {
address 10.50.50.1/24;
}
family ineté |
address 2001::1/64;
}
}
]
ge-0/0/2 |
unit 0 {
family inet |
address 172.100.100.100/24;
}

lod {
unit 0 {
family inet {
address 192.168.1.1/32;
I

}
]
protocols {
ospf3 |
realm ipv4-unicast (
area 0.0.0.0 {
interface ge-0/0/2.0 |
vassive:
I
i
]
area 0.0.0.0 [
interface ge-0/0/1.0:
}

1

[edit]
user@Router-2# show

interfaces {
ge-0,/0/1 {
unit 0 {
family inet {
address 10.50.50.2/32;
}
family inetée [
address 2001::2/64;
]
}
}
ge-0/0/2 {
unit 0 {
family inet {
address 172.101.101.100/24>
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There is a functioning OSPFv3 neighborship between Router-1 and Router-2 over the ge-0/0/1 link. However, the
172.100.100.0/24 and 172.101.101.100/24 routes are not being shared through OSPFv3.

Referring to the configuration shown in the exhibit, which two actions must you take to solve the problem? (Choose
two.)

A. Add interface ge-0/0/1 under the IPv4 unicast realm for both routers.
B. Add the IPv6 family protocol under ge-0/0/2 for both routers.

C. Add the 100 interface under OSPFv3 for both routers.

D. Add interface ge-0/0/2 under OSPFv3 for both routers.

Correct Answer: AB

QUESTION 3

You want to route Layer 3 PVLAN traffic within the secondary VLAN. What is required to accomplish this task?
A. an FBF policy

B. an IRB

C. a community VLAN

D. an isolated VLAN

Correct Answer: B

QUESTION 4

Click the Exhibit button.
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[edit]
userfrouter# show protocols bgp
group BGP-MESH
type internal;
local—-address 172.10.50.200;
family inet {
unicast;

}

export NHS;

cluster 172.10.50.200;
peer—as 65001;
neighbor 10.10.0.50;
neighbor 172.16.200.4;

[edit]
userfrouter# show policy—-options policy—-statement NHS
term BGP ROUTES {
from protocols bgps
then {
next-hop self;

acceptr

}

You are investigating reports of increased latency and discover that some routes cause customer traffic to traverse a
route reflector instead of the optimal path.

Referring to the exhibit, which configuration statement would solve the problem?
A. delete protocols bgp group BGP-MESH peer-as

B. set policy-options policy-statement NHS term BGP_ROUTES from external
C. set protocols bgp group BGP-MESH import NHS

D. delete protocols bgp group BGP-MESH export NHS

Correct Answer: B

QUESTION 5
Which statement is correct about MSTP?

A. MSTP enables mapping multiple independent spanning-tree instances onto one physical topology.
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B. MSTP enables dynamic discovery of Layer 2 neighbors.
C. MSTP dynamically manages VLAN registration in a LAN.

D. MSTP uses stacked VLAN tags to extend a Layer 2 Ethernet connection between multiple sites.

Correct Answer: A
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